

T20240124.0029 - Verkada Access Control - LA Student Services

Number: 18138

Date: 01/30/2024

Order prepared for: Bob Fishtrom

Bill To: **Bob Fishtrom** Mountain View Los Altos High School District 1299 Bryant Avenue Mountain View, CA 94040 Phone: (650)922-0943 Email: bob.fishtrom@mvla.net

Ship To: **Bob Fishtrom** Mountain View Los Altos High School District 1299 Bryant Avenue Mountain View, CA 94040

em; #	Mfr. Part	Description	Price	Qty.	Extended
and the same of	LABOR - FP	LABOR- Project Service and Support MVLA - LA Student Services Verkada Access Control - JAN2024 Project Start Date: TBD	\$ 44,450.00	1	\$ 44,450.00
		Project End Date: TBD SCOPE: Replace (5) five existing Lenel 3000 door controls in MDF, with new Verkada AC42 panels, wired at MDF tray to existing 68 AD300 doors.		And a phonon on particular the state of the	
		List of Tasks to be Delivered: 1. Define AC42 panel and Schlage door reader naming convention in design documents. 2. Meet with District IT to confirm design and schedules. 3. Mount new AC42 Panels in MDF. 4. Run network port to panel location, program switch port and uplink to network. 5. Wire panel to existing door MUX and power supplies in IT rack (drawers) 6. Reset Schlage AD300 doors and configure at AC42 Verkada Command. 7. Remove Lenet 3000 controllers from access control drawers. 8. Associate cameras and event triggers. 9. Update access control as-built diagrams and final inventory documents. CONTRACT TYPE: Fixed Budget Project Mfr: PORTOLA SYSTEMS INC			
2	AC42-HW	AC42 4 Door Controller Mfr: VERKADA	\$ 1,206.39	5	\$ 6,031.95
*3	LIC-AC-10Y	10-Year Door License Mfr: VERKADA	\$ 1,340.51	68	\$ 91,154.68
		3 item(s)	Su	ıb-Totai	\$ 141,636.63
			Discount @ 3.	53016%	\$ 5,000.00
			Tax @	9.125%	\$ 530.98
				Freight	\$ 375.00

Payment Details

Pay by: Company PO

Shipping and Delivery Details

Shipping via: Delivery

Other Details

Terms and Conditions

Freight/Shipping not included unless otherwise noted.

Handling Fees not included unless otherwise noted. Cancellation is subject to a 10% restocking fee.

Returns may be subject to additional fees and/or terms defined by manufacturer.

Late Fee Policy: Overdue balances will be charged interest rate at current prime rates + 1.5% per month or greater based on terms defined by manufacture.

Prepared by: Jason Hecht

Email: jhecht@portolasystems.net

Phone: 415-693-8624



T20240124.0029 - Verkada Access Control - LA Student Services

Prepared by: Jason Hecht	Email: Jhecht@portolasystems.net	Phone: 415-693-8624
Upon approval, please submit signed quote an	d/or End User PO to purchasing@portolasystems.net	
		Order prepared for: Bob Fishtrom
		Date: 01/30/2024
		Number: 18138
- 3		Ottachi Och vided



Phone: 17078248800

T20230922.0019 - MVLA -Quote Request for MVLA -Verkada AC MV Student Services - SEP2023

Number: 14663

Date: 09/22/2023

Quote prepared for: Bob Fishtrom

Bill To: **Bob Fishtrom** Mountain View Los Altos High School District 1299 Bryant Avenue Mountain View, CA 94040 Phone: (650)922-0943 Email: bob.fishtrom@mvla.net

01Th #	Mfr. Part	Description	Price	Qty.	Extended
MARCON IS	IDF A147				
1 .	AC42-HW	AC42 4 Door Controller Mfr: Verkada	\$ 1,206,39	3	\$ 3,619.17
*2	LIC-AC-10Y	10-Year Door License Mfr: Verkada	\$ 1,340.51	43	\$ 57,641.93
3	ACC-BAT-4AH	4AH Backup Battery Mfr: Verkada	\$ 86.51	3	\$ 259.53
			Grou	p Total	\$ 61,520.63
	IDF A256				
4	AC42-HW	AC42 4 Door Controller Mfr: Verkada	\$ 1,206.39	3	\$ 3,619.17
*5	LIC-AC-10Y	10-Year Door License Mfr: Verkada	\$ 1,340.51	36	\$ 48,258.36
6	ACC-BAT-4AH	4AH Backup Battery Mfr: Verkada	\$ 86.51	3	\$ 259.53
			Grou	p Total	\$ 52,137.06



T20230922.0019 - MVLA -Quote Request for MVLA -Verkada AC MV Student Services - SEP2023

Number: 14663

Date: 09/22/2023

Quote prepared for: Bob Fishtrom

	NAME OF TAXABLE PARTY.	em Mfr. Part Description Price Qty.			
Extende	Qty.	Price	Description	Mir. Part	
\$ 53,336.0	1	\$ 53,336.00	LABOR- Project Service and Support	LABOR - FP	
			MVLA - MV Student Services Verkada Access Control - SEP2023		
			Project Start Date: Project End Date:		
			SCOPE: Replace (6) six existing Lenel 3000 door controls across two IDFs, with new Verkada AC42 panels, wired at IDF tray to existing AD300 doors.		
			List of Tasks to be Delivered:		
			Define AC42 panel and Schlage door reader naming convention in design documents Meet with District IT to confirm design and schedules		
			 Mount new AC42 Panels at two (2) IDFs Run network port to panel location, program switch port and uplink to network Wire panel to existing door MUX and power supplies in IT rack (drawers) Reset Shlage AD300 doors and configure at AC42 Verkada Command Remove Lenel 3000 controllers from access control drawers 		
			Associate cameras and event triggers Update access control as-built diagrams and final inventory documents		
			CONTRACT TYPE: Fixed Budget Project		
			Milestone 1: 35% Due Upon Signature Additional Milestones: Due as % completed as work progresses at end of each month Mfr: PORTOLA SYSTEMS INC Notes: - General		
			 Requires afterhours programming to reset locks at classroom doors Troubleshooting or repairing any defective or faulty 'existing' equipment may be considered outside the scope of this engagement. In the event such a circumstance is encountered, Portola will make a reasonable efforts to notify District IT Management before proceeding. 		
\$ 53,336.0	p Total	Group			
\$ 166,993.6	7 item(s) Sub-Total				
\$ 707.8	9.125%	Tax @ 9			
\$ 0.0	Freight	F			
\$ 167,701.5 empted Part(s	Total				

Quote Valid Until: 10/22/2023

Payment Details

Pay by: Company PO

Other Details

<u>Terms and Conditions</u> Freight/Shipping not included unless otherwise noted.

Shipping and Delivery Details Shipping via: Delivery

Prepared by: Ryan Miller

Email: rmiller@portolasystems.net

Phone: 17078248800



327 O'Hair Court, Suite B Santa Rosa, CA 95407 Phone: 17078248800 T20230922.0019 - MVLA -Quote Request for MVLA -Verkada AC MV Student Services - SEP2023

Number: 14663

Date: 09/22/2023

Quote prepared for: Bob Fishtrom

Phone: 17078248800

Handling Fees not included unless otherwise noted. Cancellation is subject to a 10% restocking fee.

Returns may be subject to additional fees and/or terms defined by manufacturer.

Late Fee Policy: Overdue balances will be charged interest rate at current prime rates + 1.5% per month or greater based on terms defined by manufacture.

Upon approval, please submit signed quote and/or End User PO to purchasing@portolasystems.net

Prepared by: Ryan Miller

Email: rmiller@portolasystems.net



327 O'Hair Court, Suite B Santa Rosa, CA 95407 Phone: 707-827-4337

T20240228.0025 - LA Bldg 600 Engineering Aux Gym Verkada Access Control

Number: 15023

Date: 02/28/2024

Quote prepared for: Bob Fishtrom

Bill To:
Bob Fishtrom
Mountain View Los Altos High School District
1299 Bryant Avenue
Mountain View, CA 94040
Phone: (650)922-0943
Email: bob.fishtrom@myla.net

Ship To: Bob Fishtrom Mountain View Los Altos High School District 1299 Bryant Avenue Mountain View, CA 94040

tem #	Mfr. Part	Description	Price	Qty.	Extended
*1	LABOR - FP	LABOR- Project Service and Support MVLA - LA Building 600, Engineering, Aux Gym Verkada Access Control - FEB2024 SCOPE: Replace (5) five existing Lenel 3000 door controls in IDF's with new Verkada AC42 panels, wired at IDF tray to existing 55 AD300 & AD400 doors. List of Tasks to be Delivered: 1. Define AC42 panel and Schlage door reader naming convention in design documents. 2. Meet with District IT to confirm design and schedules. 3. Mount new AC42 Panels in IDF's in Bldg 600 1st & 2nd FL, Engineering and Aux Gym. 4. Run network port to panel location, program switch port and uplink to network. 5. Wire panel to existing door MUX and power supplies in IT rack (drawers). 6. Reset Schlage AD300/AD400 doors and configure at AC42 Verkada Command. 7. Install new PIM 400-485 in Room 601 for wiretess doors. 8. Connect AD400 doors to PIM. 9. Remove Lenel 3000 controllers from access control drawers. 10. Associate cameras and event triggers. 11. Update access control as-built diagrams and final inventory documents.	\$ 49,450.00	1	\$ 49,450.00
2	AC42-HW	Mfr: PORTOLA SYSTEMS INC AC42 4 Door Controller	\$ 1,206.39	6	\$ 7,238.34
	AC42-NVV	Mfr: VERKADA	\$ 1,200.39	0	# F1230.34
3	ACC-BAT-4AH	4AH Backup Battery Mfr: VERKADA	\$ 86.51	6	\$ 519.06
*4	LIC-AC-10Y	10-Year Door License Mfr: VERKADA	\$ 1,340.51	55	\$ 73,728.05
5	ACCX-HUB-PIM	Schlage PIM400-485-VBB Panel Interface Module Mfr: Verkada	\$ 2,210.53	1	\$ 2,210.53
*6	PEPPM	PEPPM Contract #535122-190 Mfr: Verkada	\$ 0.00	1	\$ 0.00
		6 item(s)	Su	ıb-Total	\$ 133,145.98
			Tax @	9.125%	\$ 909.57
				Freight	\$ 0.00
				Total	\$ 134,055.55

.

Quote Valid Until: 03/27/2024

Payment Details

Pay by: Company PO

Shipping and Delivery Details



T20240228.0025 - LA Bldg 600 Engineering Aux Gym Verkada Access Control

Number: 15023
Date: 02/28/2024

Quote prepared for: Bob Fishtrom

Phone: 707-827-4337

Other Details

Terms and Conditions

Freight/Shipping not included unless otherwise noted.

Handling Fees not included unless otherwise noted. Cancellation is subject to a 10% restocking fee. Returns may be subject to additional fees and/or terms defined by manufacturer.

Late Fee Policy: Overdue balances will be charged interest rate at current prime rates + 1.5% per month or greater based on terms defined by manufacturer.

Upon approval, please submit signed quote and/or End User PO to purchasing@portolasystems.net and include ticket number in the subject line.

Prepared by: Dana Watkins

Email: dwatkins@portolasystems.net



Phone: 707-827-4337

T20231109.0016 - MV New Gym Verkada Access Control Install

Number: 14811

Date: 11/13/2023

Quote prepared for: Bob Fishtrom

Bill To: **Bob Fishtrom** Mountain View Los Altos High School District 1299 Bryant Avenue Mountain View, CA 94040 Phone: (650)922-0943

Ship To: Bob Fishtrom Mountain View Los Altos High School District 1299 Bryant Avenue Mountain View, CA 94040

Mfr. Pari	Description	Price	Qty.	Extended
LABOR - FP	LABOR- Project Service and Support	\$ 9,000.00	1	\$ 9,000.00
	MVLA - MV New Gym Verkada Access Control - Nov2023			
	Project Start Date: 11/01/23 Project End Date: 12/31/23			
	SCOPE: MVLA would like to integrate existing Schlage AD series door hardware into Verkada Access Control AC42 in MVLA New Gym.			
	List of Tasks to be Delivered:			
	Add AC42 hardware to MVLA existing Verkada Command Dashboard Install AC42 hardware in closet Reset Schlage hardware and document door numbers			
	Wire Schlage doors into AC42 hardware Program Verkada Command and Door Schedules			
	 Provide as-built map listing existing door numbers as programed in Schlage System and new AC42 Verkada hardware installed. Program door schedule and test 			
	CONTRACT TYPE: Fixed Budget Project			
	Mfr: PORTOLA SYSTEMS INC			
AC42-HW	AC42 4 Door Controller Mfr: VERKADA	\$ 1,206.39	1	\$ 1,206.39
LIC-AC-10Y	10-Year Door License Mfr: VERKADA	\$ 1,340.51	9	\$ 12,064.59
ACC-BAT-4	H 4AH Backup Battery Mfr: VERKADA	\$ 86.51	1	\$ 86,51
Australia da la responsa de proprias e que esperiente esperiente esperiente esperiente esperiente esperiente e	4 item(s)	Su	ıb-Total	\$ 22,357.49
		Tax @	9.125%	\$ 117.98
			Freight	\$ 0.00
			Total	\$ 22,475.47

Quote Valid Until: 12/11/2023

Payment Details

Pay by: Company PO

Other Details

Terms and Conditions

Freight/Shipping not included unless otherwise noted.

Handling Fees not included unless otherwise noted. Cancellation is subject to a 10% restocking fee.

Prepared by: Dana Watkins

Email: dwatkins@portolasystems.net

Shipping and Delivery Details

Phone: 707-827-4337



T20231109.0016 - MV New Gym Verkada Access Control Install

Number: 14811 Date: 11/13/2023

Quote prepared for Bob Fishtrom

Returns may be subject to additional fees and/or terms defined by manufacturer.

Late Fee Policy: Overdue balances will be charged interest rate at current prime rates + 1.5% per month or greater based on terms defined by manufacture

Upon approval, please submit signed quote and/or End User PO to purchasing@portolasystems.net

Prepared by: Dana Watkins

Email: dwatkins@portolasystems.net

Phone: 707-827-4337



T20231212.0038 - MVLA -Quote Request for Freestyle Verkada Access

Number: 14857

Date: 12/12/2023

Quote prepared for: Bob Fishtrom

Bill To: **Bob Fishtrom** Mountain View Los Altos High School District 1299 Bryant Avenue Mountain View, CA 94040 Phone: (650)922-0943

Email: bob.fishtrom@mvla.net

Item Mfr. Part #	Description	Price	Qty.	Extended
*1 LABOR - FP	LABOR- Project Service and Support MVLA - Freestyle Campus Verkada Access Control - DEC2023 Project Start Date: 12/12/23 Project End Date: 1/31/24 SCOPE: MVLA would like to integrate existing Schlage AD series door hardware into Verkada Access Control AC42 across the Freestyle Campus. List of Tasks to be Delivered: 1. Add five (5) x AC42 hardware to MVLA existing Verkada Command Dashboard 2. Install AC42 hardware in closets 3. Reset (15) Schlage AD hardware locks and document door numbers 4. Wire Schlage doors into AC42 hardware 5. Program Verkada Command and Door Schedules 6. Provide as-built map listing existing door numbers as programed in Schlage System and	\$ 19,200.00	1	\$ 19,200.00
2 AC42-HW	new AC42 Verkada hardware installed. 7. Program door schedule and test CONTRACT TYPE: Fixed Budget Project Milestone Based Milestone 1: 35% Due Upon Receipt Additional Milestones: Due as % completed as project progresses, invoiced monthly. Mfr: PORTOLA SYSTEMS INC AC42 4 Door Controller Mfr: VERKADA Notes: Closet List IDF A106 x Qty. 2 IDF B105 x Qty. 2	\$ 1,206.39	5	\$ 6,031.95



T20231212.0038 - MVLA -Quote Request for Freestyle Verkada Access

Number: 14857

Date: 12/12/2023

Quote prepared for: Bob Fishtrom

Extend	Qty.	Price	Description	art	Mfr. Part	em #	
\$ 20,107.		\$ 1,340.51		0Y 10-Year Door License Mfr: VERKADA Notes:	LIC-AC-10Y	*3	
			FILM - A101	A101A			
			FILM - A101	A101B			
			GENDER NEUTRAL TOILETS - A102	A102A			
			DESIGN - A104	A104A			
			DESIGN - A104	A104B			
			ANIMATION - A105	A105A			
			ANIMATION - A105	A105B			
	0.51 15 6.51 5		Conference - B103	B103A			
			SERVER ROOM - B105	B105B			
			DIGITAL MEDIA - B101	B101B			
			DIGITAL MEDIA - B101	B101A			
			ENGLISH - B102	B102B			
			ENGLISH - B102	B102A			
			VESTIBULE - C101	C101			
			PHOTO STUDIO - C107	C107			
\$ 432.	5	\$ 86.51		-4AH Backup Battery Mfr: VERKADA	ACC-BAT-4AH	4	
\$ 45,772.	ub-Total	Su	4 item(s)				
\$ 589.	9.125%	Tax @					
\$ 0.	Freight						
\$ 46,362.	Total						

Quote Valid Until: 01/11/2024

Payment Details

Pay by: Company PO

Other Details

Terms and Conditions

Freight/Shipping not included unless otherwise noted.

Handling Fees not included unless otherwise noted.

Cancellation is subject to a 10% restocking fee.

Returns may be subject to additional fees and/or terms defined by manufacturer.

Late Fee Policy: Overdue balances will be charged interest rate at current prime rates + 1.5% per month or greater based on terms defined by manufacture.

Upon approval, please submit signed quote and/or End User PO to purchasing@portolasystems.net

Prepared by: Ryan Miller

Email: rmiller@portolasystems.net

Shipping and Delivery Details

Phone: 17078248800



327 O'Hair Court, Suite B Santa Rosa, CA 95407

T20230905.0060 - MVLA -Quote for MV 700-800 Verkada Access Control

Number: 14625

Date: 09/05/2023

Quote prepared for: Bob Fishtrom

Bill To: **Bob Fishtrom** Mountain View Los Altos High School District 1299 Bryant Avenue Mountain View, CA 94040 Phone: (650)922-0943 Email: bob fishtrom@mvla.net

tem #	Mfr. Part	Description	Price	Qty.	Extended
200000	IDF B107	18 M - 18		CALCULATE IN	
1	AC42-HW	AC42 4 Door Controller Mfr: Verkada	\$ 1,206,39	2	\$ 2,412.78
*2	LIC-AC-10Y	10-Year Door License Mfr: Verkada	\$ 1,340.51	28	\$ 37,534.28
3	ACC-BAT-4AH	4AH Backup Battery Mfr: Verkada	\$ 86.51	2	\$ 173.02
			Group ⁻	Total	\$ 40,120.08
	IDF A203				
4	AC42-HW	AC42 4 Door Controller Mfr: Verkada	\$ 1,206.39	2	\$ 2,412.78
*5	LIC-AC-10Y	10-Year Door License Mfr: Verkada	\$ 1,340.51	17	\$ 22,788.6
6	ACC-BAT-4AH	4AH Backup Battery Mfr: Verkada	\$ 86.51	2	\$ 173.02
			Group 1	Γotal	\$ 25,374.4
	IDF D104				
.7	AC42-HW	AC42 4 Door Controller Mfr: Verkada	\$ 1,206.39	1	\$ 1,206.38
*8	LIC-AC-10Y	10-Year Door License Mfr: Verkada	\$ 1,340.51	12	\$ 16,086.12
9	ACC-BAT-4AH	4AH Backup Battery Mfr: Verkada	\$ 86.51	1	\$ 86.51
			Group 1	Γotal	\$ 17,379.02

PORTOLA SYSTEMS INC 327 O'Hair Court, Suite B Santa Rosa, CA 95407 Systems inc Phone: 17078248800

T20230905.0060 - MVLA -Quote for MV 700-800 Verkada Access Control

Number: 14625

Date: 09/05/2023

Quote prepared for: Bob Fishtrom

Extended	Qty.	Price	Description	Mfr. Part	tem #
\$ 54,750.00	1	\$ 54,750.00	LABOR- Project Service and Support	LABOR - FP	INCOME.
		MVLA - MV 700-800 Verkada Access Control - SEP2023		- 1	
			Project Start Date: Project End Date:		
			SCOPE: Replace (6) six existing Lenel 3000 door controls across three IDFs, with new Verkada AC42 panels, wired at IDF tray to existing AD300 doors.		
			List of Tasks to be Delivered:		
			 Define AC42 panel and Schlage door reader naming convention in design documents Meet with District IT to confirm design and schedules Mount new AC42 Panels at three (3) IDFs Run network port to panel location, program switch port and uplink to network Wire panel to existing door MUX and power supplies in IT rack (drawers) Reset Shlage AD300 doors and configure at AC42 Verkada Command Remove Lenel 3000 controllers from access control drawers Associate cameras and event triggers Update access control as-built diagrams and final inventory documents 		
			CONTRACT TYPE: Fixed Budget Project		
			Milestone 1: 35% Due Upon Signature Additional Milestones: Due as % completed as work progresses at end of each month Mfr: PORTOLA SYSTEMS INC Notes: - General		
			 Requires afterhours programming to reset locks at classroom doors Troubleshooting or repairing any defective or faulty 'existing' equipment may be considered outside the scope of this engagement. In the event such a circumstance is encountered, Portola will make a reasonable efforts to notify District IT Management before proceeding. 		
\$ 54,750.00	p Total	Grou			
\$ 137,623.57	b-Total	10 item(s) Sub-Total			
\$ 589.89		Tax @ S			
\$ 0.00	Freight				
\$ 138,213.46	Total				

Quote Valid Until: 10/05/2023

Payment Details

Pay by: Company PO

Other Details

<u>Terms and Conditions</u>
Freight/Shipping not included unless otherwise noted.

Handling Fees not included unless otherwise noted. Cancellation is subject to a 10% restocking fee.

Prepared by: Ryan Miller

Email: rmiller@portolasystems.net

Shipping and Delivery Details

Phone: 17078248800



327 O'Hair Court, Suite B Santa Rosa, CA 95407 Phone: 17078248800

T20230905.0060 - MVLA -Quote for MV 700-800 Verkada Access Control

Number:	14625
Date: 09/0	5/2023

Quote prepared for: Bob Fishtrom

Returns may be subject to additional fees and/or terms defined by manufacturer.

Late Fee Policy: Overdue balances will be charged interest rate at current prime rates + 1.5% per month or greater based on terms defined by manufacture.

Upon approval, please submit signed quote and/or End User PO to purchasing@portolasystems.net

Prepared by: Ryan Miller

Email: rmiller@portolasystems.net

Phone: 17078248800



T20230125.0059 - MVLA **DO Access Control**

Number: 14323-1

Date: 08/10/2023

Quote prepared for: Bob Fishtrom

Phone: 17078248800

Bill To: **Bob Fishtrom** Mountain View Los Altos High School District 1299 Bryant Avenue Mountain View, CA 94040 Phone: (650)922-0943

Prepared by: Ryan Miller

Ship To: **Bob Fishtrom** Mountain View Los Altos High School District 1299 Bryant Avenue Mountain View, CA 94040

em #	Mfr. Part	Description	Price	Qty.	Extended		
*1	LABOR - FP	LABOR- Project Service and Support	\$ 26,850.00	1	\$ 26,850.00		
		MVLA - DO VERKADA ACCESS CONTROL - AUG2023					
		Project Start Date:8/21/2023 Project End Date:9/21/2023					
		SCOPE: MVLA would like to integrate existing Schlage AD series door hardware and wireless PIMs into new Verkada Access Control AC42-HW at three locations on the District Office Campus: DO Admin, DO IT, DO Portables.					
		List of Tasks to be Delivered:					
		 Add AC42 hardware to MVLA existing Verkada Command Dashboard Install AC42 hardware at closets/locations Reset Schlage software and document door numbers Wire AC42 hardware to Schlage System Program Verkada Command and Door Schedules Provide as-built map listing existing door numbers as programed in Schlage System and new AC42 Verkada hardware installed 					
		 Program door schedule and test Verkada to provide two training sessions one power user training to review doors and schedules and one IT Admin training to review system programming and troubleshooting. 					
		Mfr: PORTOLA SYSTEMS INC Notes: Does not include any time required to add existing cameras or door entry events. Verkada will cover additional features and settings during admin training to support MVLA IT					
	DO Admin Built	staff efforts in maturing the integration of the Verkada platform and security products.					
2	AC42-HW	Verkada AC42 Door Controller	\$ 1,206.39	1	\$ 1,206.39		
-	A042-1111	Mfr: Verkada Notes: Operates up to 16 Schlage Wireless Doors one One PIM Per Controller	ψ 1,200.30		4 1,200.00		
3	ACC-BAT-4AH	ACC-BAT-4AH Mfr:	\$ 86.51	1	\$ 86.51		
*4	LIC-AC-10Y	Verkada 10-Year Door License Mfr: Verkada Notes: One Lic Required Per Door	\$ 1,340.51	4	\$ 5,362.04		
			Gro	up Total	\$ 6,654.94		
	DO IT Building	- Three Doors w. One Controller					
5	AC42-HW	Verkada AC42 Door Controller Mfr: Verkada Notes: Operates up to 16 Schlage Wireless Doors one One PIM Per Controller	\$ 1,206.39	1	\$ 1,206.39		
6	ACC-BAT-4AH	ACC-BAT-4AH Mfr:	\$ 86.51	1	\$ 86.51		
*7	LIC-AC-10Y	Verkada 10-Year Door License Mfr: Verkada Notes: One Lic Required Per Door	\$ 1,340.51	3	\$ 4,021.53		
	Group Total						

Email: rmiller@portolasystems.net



T20230125.0059 - MVLA

Number: 14323-1

Date: 08/10/2023

Quote prepared for: Bob Fishtrom

item #	Mfr. Part	Description	Price	Qty.	Extended
	DO Portable Bui	ildings - Nine Doors w. Two Controllers		COLUMN TO SERVICE SERV	
8	AC42-HW	Verkada AC42 Door Controller Mfr: Verkada Notes: Operates up to 16 Schlage Wireless Doors one One PIM Per Controller	\$ 1,206.39	2	\$ 2,412.78
9	ACC-BAT-4AH	ACC-BAT-4AH Mfr:	\$ 86.51	2	\$ 173.02
*10	LIC-AC-10Y	Verkada 10-Year Door License Mfr: Verkada Notes: One Lic Required Per Door	\$ 1,340.51	9	\$ 12,064.59
11	ACCX-HUB-PIM	Schlage PIM400-485-VBB Panel Interface Module Mfr:	\$ 2,210.53	1	\$ 2,210.53
		Group Total			
	Misc. Items				
12	Misc. Parts	Install misc, backer board, RS485 cable, and provide patch cables and mounting supplies. Mfr:	\$ 2,235.00	1	\$ 2,235.00
			Grou	ip Total	\$ 2,235.00
		12 item(s)	Sub-Total		\$ 57,915.29
			Tax @ 9.125%		\$ 877.56
		Freight		\$ 0.00	
			Total		\$ 58,792.85
	and the second property and and	arty i di matetan igg — papaggalampande men nyan, g natury (j met erformillelammate) – flatabank af viland finel te flatabal finel i di lilla e-rek (helle (flata) – flatabal finel i di lilla e-rek (helle (flata) – flatab	nago — Šan. Iraquamanengan harbiter felmioloiddir o'r arli	(*) Tax exe	empted Part(s)

Quote Valid Until: 09/09/2023

Payment Details

Pay by: Company PO

Terms and Conditions

Freight/Shipping not included unless otherwise noted.

Handling Fees not included unless otherwise noted. Cancellation is subject to a 10% restocking fee.

Returns may be subject to additional fees and/or terms defined by manufacturer.

Late Fee Policy: Overdue balances will be charged interest rate at current prime rates + 1.5% per month or greater based on terms defined by manufacture.

Upon approval, please submit signed quote and/or End User PO to purchasing@portolasystems.net

Prepared by: Ryan Miller

Email: rmiller@portolasystems.net

Phone: 17078248800

Shipping and Delivery Details



T20230614.0012 - MV 2023 Summer Facility Renovations 100 & 500

Number: 14480

Date: 06/14/2023

Quote prepared for: Bob Fishtrom

Phone: 707-827-4337

Bill To: **Bob Fishtrom** Mountain View Los Altos High School District

1299 Bryant Avenue Mountain View, CA 94040 Phone: (650)922-0943 Email: bob.fishtrom@mvta.net

Prepared by: Dana Watkins

Ship To: **Bob Fishtrom**

Mountain View Los Altos High School District

1299 Bryant Avenue Mountain View, CA 94040

tem #	Mfr. Part	Description	Price	Qty.	Extended
	Building MV 100C				
1	AC42-HW	AC42 4 Door Controller Mfr: Verkada	\$ 1,148.00	1	\$ 1,148.00
*2	LIC-AC-10Y	10-Year Door License Mfr: Verkada	\$ 1,276.00	13	\$ 16,588.00
3	ACC-BAT-4AH	4AH Backup Battery Mfr: Verkada	\$ 82.00	1	\$ 82.00
		Group Total			
	Building MV 100D				
4	AC42-HW	AC42 4 Door Controller Mfr: Verkada	\$ 1,148.00	2	\$ 2,296.00
*5	LIC-AC-10Y	10-Year Door License Mfr: Verkada	\$ 1,276.00	23	\$ 29,348.00
6	ACC-BAT-4AH	4AH Backup Battery Mfr: Verkada	\$ 82.00	2	\$ 164.00
		Group Total		p Total	\$ 31,808.00
	Buildings MV 500A, B, C				
7	AC42-HW	AC42 4 Door Controller Mfr: Verkada	\$ 1,148.00	1	\$ 1,148.00
*8	LIC-AC-10Y	10-Year Door License Mfr: Verkada	\$ 1,276.00	10	\$ 12,760.00
9	ACC-BAT-4AH	4AH Backup Battery Mfr: Verkada	\$ 82.00	1	\$ 82.00
			Grou	p Total	\$ 13,990.00
	Building MV 500D				
10	AC42-HW	AC42 4 Door Controller Mfr: Verkada	\$ 1,148.00	1	\$ 1,148.00
*11	LIC-AC-10Y	10-Year Door License Mfr: Verkada	\$ 1,276.00	4	\$ 5,104.00
12	ACC-BAT-4AH	4AH Backup Battery Mfr: Verkada	\$ 82.00	1	\$ 82.00
			Grou	p Total	\$ 6,334.00
	Building MV 500E				
*13	LIC-AC-10Y	10-Year Door License Mfr: Verkada Notes: RM 513/14 = 2 CR - connect at 500D PIM RM 515/16 = 2 CR - connect at 500F PIM	\$ 1,276.00	4	\$ 5,104.00
		Group Total			\$ 5,104.00
	Building MV 500F				
14	AC42-HW	AC42 4 Door Controller Mfr: Verkada	\$ 1,148.00	1	\$ 1,148.00

Email: dwatkins@portolasystems.net



T20230614.0012 - MV 2023 Summer Facility Renovations 100 & 500

Number: 14480

Date: 06/14/2023

Quote prepared for: Bob Fishtrom

Item #	Mfr. Part	Description	Price	Qty.	Extended
*15	LIC-AC-10Y	10-Year Door License Mfr: Verkada	\$ 1,276.00	5	\$ 6,380.00
16	ACC-BAT-4AH	4AH Backup Battery Mfr: Verkada	\$ 82.00	1	\$ 82.00
*17	PEPPM	PEPPM Contract #535122-190 Mfr:	\$ 0.00	1	\$ 0.00
			Grou	p Total	\$ 7,610.00
17 item(s)			Sub-Total		\$ 82,664.00
			Tax @ 9.125%		\$ 673.43
			Freight		\$ 0.00
	Total			Total	\$ 83,337.43
					\$ 83,337.43 empted Part(s)

Quote Valid Until: 07/12/2023

Payment Details

Pay by: Company PO

<u>Terms and Conditions</u> Freight/Shipping not included unless otherwise noted.

Handling Fees not included unless otherwise noted. Cancellation is subject to a 10% restocking fee.

Returns may be subject to additional fees and/or terms defined by manufacturer.

Late Fee Policy: Overdue balances will be charged interest rate at current prime rates + 1.5% per month or greater based on terms defined by manufacture.

Upon approval, please submit signed quote and/or End User PO to purchasing@portolasystems.net

Prepared by: Dana Watkins

Email: dwatkins@portolasystems.net

Shipping and Delivery Details

Phone: 707-827-4337



327 O'Hair Court, Suite B Santa Rosa, CA 95407

T20230705.0022 - QKA Prj# 1884 LA 500 and LA 400 Summer Rehab -Verkada Materials

Number: 14508

Date: 07/05/2023

Quote prepared for: Bob Fishtrom

Bill To: **Bob Fishtrom** Mountain View Los Altos High School District 1299 Bryant Avenue Mountain View, CA 94040 Phone: (650)922-0943

Email: bob.fishtrom@mvla.net

em #	Mfr. Part	Description ,	Price Qty.	Extended
200.260	LA 400 N - IDF 407		THE CASE OF THE PARTY OF THE PA	
1	AC42-HW	AC42 4 Door Controller Mfr: Verkada Notes: Doors: 1. N407A 2. N406A 3. N405A 4. N404A 5. N403A 6. N402A 7. N401A	\$ 1,148.00 1	\$ 1,148.0 0
*2	LIC-AC-10Y	10-Year Door License Mfr: Verkada	\$ 1,276.00	\$ 8,932.00
3	ACC-BAT-4AH	4AH Backup Battery Mfr: Verkada	\$ 82.00	\$ 82.00
			Group Total	\$ 10,162.00
	LA 400 K - IDF 409			
4	AC42-HW	AC42 4 Door Controller Mfr: Verkada Notes: Doors: 1. K411A 2. K410A 3. K410B 4. K409A 5. K409B 6. K408A 7. K408B	\$ 1,148.00	\$ 1,148.00
*5	LIC-AC-10Y	10-Year Door License Mfr: Verkada	\$ 1,276 00 7	\$ 8,932.00
6	ACC-BAT-4AH	4AH Backup Battery Mfr: Verkada	\$ 82.00	\$ 82.00
			Group Total	\$ 10,162.00
	LA 500 P - Elec Rm. 502B			
7	AC42-HW	AC42 4 Door Controller Mfr: Verkada Notes: Doors: 1. P507A 2. P507B 3. P506A 4. P505A 5. P504A 6. P503A 7. P502A 8. P502B 9. P501A 10. P501B	\$ 1,148.00 1	\$ 1,148.00



327 O'Hair Court, Suite B Santa Rosa, CA 95407 Phone: 707-827-4337

T20230705.0022 - QKA Prj# 1884 LA 500 and LA 400 Summer Rehab -Verkada Materials

Number: 14508

Date: 07/05/2023

Quote prepared for: Bob Fishtrom

Extended	Qty.	Price	Description	Mfr. Part	ltem #
\$ 12,760.00	10	\$ 1,276.00	10-Year Door License Mfr: Verkada	LIC-AC-10Y	ALCOHOLD ST
\$ 82.00	1	\$ 82.00	4AH Backup Battery Mfr: Verkada	ACC-BAT-4AH	9
\$ 0.00	1	\$ 0.00	PEPPM Contract #535122-190	PEPPM	*10
\$ 13,990.00	p Total	Grou			
\$ 34,314.00	b-Total	10 item(s) Sub-Tota			
\$ 336.71 \$ 0.00	9.125%	Tax @ 9.125%			
	Freight				
\$ 34,650.71	Total				
empted Part(s)	(*) Tax exe	(

Quote Valid Until: 08/02/2023

Payment Details

Pay by: Company PO

Terms and Conditions

Freight/Shipping not included unless otherwise noted.

Handling Fees not included unless otherwise noted. Cancellation is subject to a 10% restocking fee.

Returns may be subject to additional fees and/or terms defined by manufacturer.

Late Fee Policy: Overdue balances will be charged interest rate at current prime rates + 1.5% per month or greater based on terms defined by manufacture.

Upon approval, please submit signed quote and/or End User PO to purchasing@portolasystems.net

Prepared by: Dana Watkins

Email: dwatkins@portolasystems.net

Shipping and Delivery Details

Phone: 707-827-4337